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Which IBM Cloud Virtual Servers offering is multi-tenant with pre-defined sizes?

A. Transfer
B. Dedicated
C. Reserved
D. Public

Answer: D

https://cloud.ibm.com/docs/virtual-servers?topic=virtual-servers-about-public-virtual-servers

Which statement is true regarding IBM Cloud for VMware Solutions - vCenter Server?

A. It is designed for proof of concept (POC) or sandbox testing instances only

B. It is a hosted private cloud that delivers the VMware vSphere stack as a service

C. Itis a streamlined and optimized ordering platform for VMware

D. It allows maximum of flexibility to design and build a hosted VMware environment

Answer: C

An organization uses Apache Kafka on-premise and has applications that use KSQL to aggregate
information. They are willing to move the service to IBM Cloud as long as they do not need to rewrite
their KSQL applications. What IBM Cloud offering can the organization use?

A. IBM Event Streams
B. IBM API Connect
C. IBM App Connect
D. IBM MQ

Answer: B
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Which statement describes the IBM Cloud Paks?

A. Containerized IBM software products each of which have been designed to serve a dedicated
business requirement

B. Containerized software solutions that includes collections of IBM middleware and common software
services for development and management on top of a common integration layer

C. Discounted bundles of containerized software licenses for deployment on premises, to be used as a
stepping stone for the customer to smoothen their journey to the cloud

D. Collections of IBM Cloud services which have been designed to cater for different categories of
business challenges, with the goal of accelerating a customer's journey to the cloud

Answer: C

Which statement is true about a Hybrid Cloud?

A. It is a platform for applications and infrastructure for system-z that is built on two or more
components from only public and private cloud

B. It is a deployment model that requires the largest capital expense to deploy and to scale

C. It is a platform for applications and infrastructure that is built on two or more components from
public cloud, private cloud and on-premises IT

D. It is a collection of cloud resources made up of laaS and PaaS from a single provider's public cloud

Answer: C

What is one of the functions provided by IBM Cloud Object Storage?

A. Automatic file encryption tooling used to manage files

B. Automatic file management tooling that can delete files that have expired
C. Built-in file access tooling used to manage files

D. Built-in high-speed file transfer capabilities

Answer: D
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